

UCSF

UC San Francisco Previously Published Works

Title

Phenotypic Characterization of Paclitaxel-Induced Peripheral Neuropathy in Cancer Survivors

Permalink

<https://escholarship.org/uc/item/35k5369g>

Journal

Journal of Pain and Symptom Management, 56(6)

ISSN

0885-3924

Authors

Kober, Kord M

Mazor, Melissa

Abrams, Gary

et al.

Publication Date

2018-12-01

DOI

10.1016/j.jpainsymman.2018.08.017

Peer reviewed



Published in final edited form as:

J Pain Symptom Manage. 2018 December ; 56(6): 908–919.e3. doi:10.1016/j.jpainsymman.2018.08.017.

PHENOTYPIC CHARACTERIZATION OF PACLITAXEL-INDUCED PERIPHERAL NEUROPATHY IN CANCER SURVIVORS

Kord M. Kober, PhD¹, Melissa Mazor, RN, PhD¹, Gary Abrams, MD², Adam Olshen, PhD², Yvette P. Conley, PhD³, Marilyn Hammer, RN, PhD⁴, Mark Schumacher, MD, PhD², Margaret Chesney, PhD², Betty Smoot, PT, DPTSc, MAS², Judy Mastick, RN, MN¹, Steven M. Paul, PhD¹, Jon D. Levine, MD, PhD², and Christine Miaskowski, RN, PhD¹

¹School of Nursing, University of California, San Francisco, CA

²School of Medicine, University of California, San Francisco, CA

³School of Nursing, University of Pittsburgh, Pittsburgh, PA

⁴Department of Nursing, Mount Sinai Medical Center, New York, NY

Abstract

Context—While paclitaxel is one of the most commonly used drugs to treat breast, ovarian, and lung cancers, little is known about the impact of paclitaxel-induced peripheral neuropathy (PIPNe) on cancer survivors.

Objectives—The purposes of this study were to evaluate for differences in demographic and clinical characteristics, as well as measures of sensation, balance, upper extremity function, perceived stress, symptom burden, and quality of life (QOL) between survivors who received paclitaxel and did (n=153) and did not (n=58) develop PIPNe.

Methods—Pain characteristics associated with PIPNe are described in detail. Both subjective and objective measures were used to evaluate the impact of PIPNe.

Results—Survivors with PIPNe were significantly older, had a higher BMI, and a worse comorbidity profile. The duration of PIPNe was almost four years and pain scores were in the moderate range. Compared to survivors without PIPNe, survivors with PIPNe had a higher number of upper and lower extremity sites that had lost light touch, cold and pain sensations. Survivors with PIPNe had worse upper extremity function, more problems with balance, a higher symptom burden, and higher levels of perceived stress. In addition, survivors with PIPNe had worse QOL scores particularly in the domain of physical functioning.

Conclusion—The findings from this large descriptive study are the first to document the impact of PIPNe on survivors' symptom burden, functional status, and QOL.

Address correspondence to: Kord M. Kober, Assistant Professor, Department of Physiological Nursing, University of California, 2 Koret Way - N631Y, San Francisco, CA 94143-0610, 415-476-4658 (phone), 415-476-8899 (fax), kord.kober@ucsf.edu.

Publisher's Disclaimer: This is a PDF file of an unedited manuscript that has been accepted for publication. As a service to our customers we are providing this early version of the manuscript. The manuscript will undergo copyediting, typesetting, and review of the resulting proof before it is published in its final citable form. Please note that during the production process errors may be discovered which could affect the content, and all legal disclaimers that apply to the journal pertain.

Conflict of interest: The authors have no conflict of interests to declare.

Keywords

paclitaxel; cancer; chemotherapy; peripheral neuropathy; pain; stress; quality of life; balance; survivor

INTRODUCTION

With the establishment of its anti-tumor activity in the early 1990's, paclitaxel became one of the most commonly used drugs to treat breast, ovarian, and lung cancers.⁴¹ Paclitaxel exerts its therapeutic effect by binding to β -tubulin which interferes with microtubule dynamics and results in microtubule stabilization, mitotic arrest, and apoptosis of cancer cells. However, microtubules are critical for axonal function and for the transport of essential organelles to distal nerve endings. Disruption of axonal transport can lead to axonal degeneration and neuropathy.⁵⁹

Paclitaxel-induced peripheral neuropathy (PIPN) is the dose limiting toxicity of this chemotherapy (CTX) drug. Prevalence estimates for PIPN range from 59% to 87%.^{37,67} PIPN is described as a distal polyneuropathy that presents with paresthesias and dysesthesias in the lower extremities. Symptoms spread proximally, as well as to the upper extremities, in a "stocking-glove" distribution. The majority of the information on the characteristics and impact of PIPN comes from clinical trials of the efficacy of the drug. In general, these studies used the National Cancer Institute's Common Terminology Criteria for Adverse Events (CTCAE) to grade the severity of PIPN. In some cases, the CTCAE were supplemented by the Functional Assessment of Cancer Therapy (FACT)-Taxane.¹²

While the evaluation of PIPN in the context of clinical trials guides treatment decisions, the long term impact of this adverse effect is critically important to cancer survivors. Only two studies were found that evaluated the prevalence, severity, and impact of long-term taxane-induced neuropathy.^{34,55} In the first study,³⁴ PIPN was assessed using objective measures of touch perception and vibration threshold, as well as the FACT-Taxane. Participants included a cross-sectional sample of 50 consecutive patients with stage I-III breast cancer who were assessed within 6 months to 2 years after completing treatment and a prospective sample of 50 women who were initiating treatment and who were assessed prior to the initiation of CTX, at the completion of therapy, and again at 3, 6, 9 and 12 months after treatment. In the cross-sectional study, 81% of the women reported symptoms of numbness and/or discomfort. In addition, hand numbness/discomfort was associated with decrements in vibration threshold. In the prospective sample, FACT-Taxane scores decreased over time [i.e., increase in neuropathy symptoms] and reports of both hand and foot numbness were associated with decrements in vibration threshold. No significant changes were found in touch perception using von Frey filaments.

In the second study, that evaluated 69 women who received either docetaxel or paclitaxel for breast or gynecologic cancer,⁵⁵ neuropathy was evaluated using the CTCAE at 1 year to 13 years (median = 3 years) after the completion of CTX. In addition, 14 patients underwent motor and sensory nerve conduction studies. Of the 64% of survivors who reported CTX-induced peripheral neuropathy (CIPN), it was categorized as Grade 2. In terms of the nerve

conduction studies, 7 patients were normal, 5 had a sensory axonal neuropathy, and 2 had a sensory motor neuropathy. The authors concluded that while the occurrence rate for neuropathy was high, “it was extremely well tolerated” (p.1943) by these survivors.

Emerging, albeit limited, evidence suggests that cancer survivors experience multiple cooccurring symptoms that persist for years after the completion of treatment.^{36,47} In addition, findings from a limited number of studies suggest that survivors with CIPN have higher levels of stress,^{50,51} a higher symptom burden,^{5,48,49} as well as a poorer functional status and quality of life (QOL).^{22,28,48,49,53,78,79} However, no studies were found that provided detailed comparisons of subjective and objective characteristics of PIPN, as well as the impact of PIPN on important survivor outcomes. Therefore, the purposes of this study were to evaluate for differences in demographic and clinical characteristics, as well as measures of sensation, balance, upper extremity function, perceived stress, symptom burden, and QOL between survivors who received paclitaxel and did (n=153) and did not (n=58) develop PIPN. In addition, pain characteristics (e.g., severity, interference) associated with PIPN are described in detail.

METHODS

Survivors and Settings

The present analysis is part of a larger study that evaluated CIPN in cancer survivors. The methods for the larger study are described in detail elsewhere.⁴⁹ In brief, survivors were recruited from throughout the San Francisco Bay area. Survivors with CIPN met the following inclusion criteria: were ≥ 18 years of age; had received a platinum and/or a taxane compound; had completed their course of CTX ≥ 3 months prior to enrollment; had changes in sensation and/or pain in their feet and/or hands of ≥ 3 months duration following the completion of CTX; had a rating of ≥ 3 on a 0 to 10 numeric rating scale (NRS) for any one of the following sensations from the Pain Quality Assessment Scale (PQAS;⁸¹ i.e., numb, tender, shooting, sensitive, electrical, tingling radiating, throbbing, cramping, itchy, unpleasant); if they had pain associated with the CIPN, had an average pain intensity score in their feet and/or hands of ≥ 3 on a 0 to 10 NRS; had a Karnofsky Performance Status (KPS) score of ≥ 50 ; and were able to read, write, and understand English.

Survivors without CIPN were ≥ 18 years of age; had received a platinum and/or a taxane compound; had completed their course of CTX ≥ 3 months prior to enrollment; did not have persistent changes in sensation and/or pain in their hands or feet at the time of enrollment; had a KPS score of ≥ 50 ; and were able to read, write, and understand English. Survivors with and without CIPN were excluded if they had: peripheral vascular disease, vitamin B12 deficiency, thyroid dysfunction, HIV neuropathy, another painful condition that was difficult for them to distinguish from their CIPN, a hereditary sensory or autonomic neuropathy, and/or a hereditary mitochondrial disorder. Of the 1450 survivors who were screened, 754 were enrolled, and 609 completed the self-report questionnaires and the study visit. For this analysis, only survivors who received paclitaxel (n=211) were included.

Study procedures

Research nurses screened and consented the survivors over the phone; sent and asked them to complete the self-report questionnaires prior to their study visit; and scheduled the in person assessment. At this assessment, written informed consent was obtained, questionnaires were reviewed for completeness, and objective measurements were done.

Study Measures

Demographic and Clinical Characteristics —Survivors provided information on demographic characteristics and completed the Alcohol Use Disorders Identification Test,⁷ the Karnofsky Performance Status (KPS) scale^{38,39,69} and the Self-Administered Comorbidity Questionnaire (SCQ).^{9,13}

Sensation —Light touch was evaluated using Semmes Weinstein monofilaments.⁶ Cold sensation was evaluated using the Tiptherm Rod.^{58,82} Pain sensation was evaluated using the Neurotip.⁵⁸ Vibration threshold was assessed using a biothesiometer.²⁰ For all of the measures of sensation, both the upper and lower extremities on the dominant side were tested.

Balance —Self-report questions from the Chemotherapy-Induced Peripheral Neuropathy Assessment Tool (CIPNAT) were used to assess balance.⁸⁰ The objective measures of balance were the timed get up and go test (TUG)⁴⁶ and the Fullerton Advanced Balance (FAB) test.^{33,65}

Upper Extremity Function —Hand grip strength was assessed using a hand dynamometer (Smedley III Analogue Grip Tester, Creative Health Products, Ann Arbor, MI). The mean force in kilograms (kg) of the three trials was calculated for each hand.⁶⁸ In addition, manual dexterity in the upper extremities was assessed using the Purdue Pegboard (Lafayette Instrument, Lafayette, IN). The number of pins placed in 30 seconds was recorded.^{10,19,63}

Symptom Burden —Survivors completed self-report questionnaires that evaluated trait and state anxiety,⁷⁴ depressive symptoms,⁶¹ diurnal variations in fatigue and energy,⁴⁴ sleep disturbance,⁴³ and changes in attentional function.¹⁴

Stress —Stress associated with cancer and its treatment was evaluated using the Impact of Event Scale-Revised (IES-R). A total score was created by summing the responses to the 22 IES-R items. Three subscale scores were calculated that evaluate the level of intrusion, avoidance, and hyperarousal perceived by the survivor. The total IES-R score ranges from 0 to 88. A total score of ≥ 37 indicates a high presence of post-traumatic symptomatology.^{15,18,77} A global evaluation of perceived stress due to life circumstances was done using the Perceived Stress Scale.¹⁶ Total PSS scores range from 0 to 56, with a higher score indicating greater stress.

QOL —A generic evaluation of QOL was done using the Medical Outcomes Study-Short Form (SF12).⁸⁴ The disease specific measure of QOL was the Multidimensional QOL Scale-Patient Version (MQOLS-PV).^{23,24,56,57}

Data Analysis

Data were analyzed using SPSS version 23.⁷⁵ Descriptive statistics and frequency distributions were calculated for survivors' demographic and clinical characteristics. For the four measures of sensation (i.e., light touch, cold, pain, vibration), composite scores, over all of the sites that were tested on the dominant upper and lower extremities, were created. For light touch, cold, and pain, the number of sites with loss of each sensation were summed. For vibration, the mean score across the sites was calculated. Differences between the PIPN and no PIPN groups in phenotypic characteristics, balance, and levels of perceived stress, symptom burden, and QOL were evaluated using Independent sample t-tests, Chi square analyses, or Mann-Whitney U tests. The specific test used for each characteristic are identified in the corresponding results Tables. Significant predictors of PIPN group membership were evaluated using logistic regression analysis. A p-value of ≤ 0.05 was considered statistically significant.

RESULTS

Demographic and Clinical Characteristics

In terms of demographic and clinical characteristics (Tables 1 and 2), survivors with PIPN were significantly older ($p=.001$); had a higher BMI ($p=.009$), a higher number of comorbidities ($p=.002$) and a worse comorbidity profile ($p=.001$); had a lower AUDIT score ($p=.001$) and a lower KPS score ($p\leq .001$); and had received fewer cancer treatments ($p=.005$). In addition, survivors with PIPN were more likely to report an injury to their hands ($p=.001$), osteoarthritis ($p=.009$), high blood pressure ($p=.027$), and were more likely to have had a dose reduction or delay due to PIPN ($p=.001$). Of note, no between group differences were found in: cancer diagnoses, number of years since the cancer diagnosis, number of metastatic sites, and total dose of paclitaxel received. As shown in Supplementary Table 1, in the logistic regression analysis, the characteristics associated with PIPN group membership that were retained in the final model included: older age, a lower KPS score, and having had a fewer number of cancer treatments ($X^2 = 77.14$, $p\leq .001$)

Pain Characteristics

Of the 153 survivors with PIPN, 4.6% had neuropathy only in their hands, 25.5% only in their feet, and 69.9% in both their hands and feet. The duration, severity, and interference associated with PIPN in the hands and the feet are summarized in Table 3. For both the hands and the feet, the pain qualities with the highest severity scores were: numb, unpleasant, and tingling.

Sensation

Survivors with PIPN had a higher number of upper and lower extremity sites with loss of light touch, cold, and pain sensations (all, $p\leq .015$). For both the upper and lower extremities, vibration thresholds were significantly higher in the PIPN group (both, $p\leq .001$, Table 4).

Balance

Survivors with PIPN were more likely to report trouble with balance ($p \leq .001$) as well as higher severity ($p = .042$) and frequency ($p = .002$) scores associated with balance problems (see Table 4). In addition, these survivors reported worse TUG ($p \leq .001$) and worse FAB ($p \leq .001$) scores.

Upper Extremity Function

Survivors with PIPN had worse grip strength ($p \leq .001$). In addition, they had a worse score on the Purdue Pegboard test ($p \leq .001$, Table 4). Detailed information on differences in all of the objective measures can be found in Supplementary Tables 2 through 5.

Symptom Burden

Survivors with PIPN reported higher morning fatigue ($p = .038$) and sleep disturbance ($p = .008$) scores as well as lower morning energy scores ($p = .015$). No between group differences were found in trait anxiety, state anxiety, depressive symptoms, evening fatigue, evening energy, or attentional function scores (see Table 4).

Perceived Stress

Survivors with PIPN reported higher avoidance and hyperarousal (both $p \leq .011$) and total IES-R ($p = .004$) scores. No between group differences were found in the PSS score (Table 4).

QOL

For the SF-12, survivors with PIPN reported lower scores for the physical functioning, role physical, bodily pain, general health, vitality, and social functioning subscales, as well as for the PCS score (all, $p \leq .008$). For the MQOLS-PV, survivors with PIPN reported lower scores for the physical wellbeing and psychological well-being subscales (both $p \leq .039$; Table 4).

DISCUSSION

This study is the first to provide a detailed phenotypic characterization of PIPN and its impact on a large sample of cancer survivors who were an average of five years from their cancer diagnosis. For the survivors with PIPN, its average duration was almost four years. Consistent with previous reports,^{41,42} PIPN was bilateral, occurred in a stocking-glove distribution, and was associated with reports of numbness and tingling. However, this study provides detailed information on the severity and interference associated with PIPN. Worst pain intensity scores for both the upper and lower extremities were in the moderate range and pain lasted approximately 13 hours per day. As expected, PIPN resulted in moderate levels of interference with walking (lower extremity function) and with the ability to perform routine activities (e.g., dressing; upper extremity function).

Demographic and clinical characteristics

While two studies found no age differences in the occurrence of CIPN associated with taxanes,^{21,71} our finding is consistent with previous reports that reported an increase in CIPN in older patients who received a taxane compound.^{70,72,73} In fact, in one study,⁷⁰ with

each decade of life the risk for taxane-induced neuropathy increased by 13%. A growing body of evidence suggests that patients with a higher BMI are at greater risk for the development of CIPN,^{17,29} with one study finding that obese patients had a more than 2-fold increased risk of CIPN compared to normal weight patients.²⁹ In the current study, the mean weight of the survivors without PIPN was in the normal range, while those with PIPN were in the overweight range. While the exact mechanisms that underlie this association in patients with cancer are unknown, a growing body of evidence in patients with diabetes supports an association between metabolic syndrome and injury to peripheral nerves (e.g., fatty deposition in nerves, oxidative stress, mitochondrial dysfunction).¹¹

While a positive association was reported in our previous analysis of the total sample,⁴⁹ as well as in patients with diabetic neuropathy,^{2,66} the current study is the first to report that survivors with PIPN have a higher comorbidity burden. In terms of the specific comorbidities, patients with PIPN reported higher occurrence rates for high blood pressure and osteoarthritis. While these associations were not reported in previous investigations of CIPN, in a population-based study,⁵⁴ a positive association was found between chronic pain and hypertension. In addition, recent evidence suggests that osteoarthritis has a neuropathic component.^{32,62}

While no differences were found in cancer diagnoses, years since cancer diagnosis, number of metastatic sites, or total dose of paclitaxel administered, survivors with PIPN were more likely to have had a dose reduction or delay in their treatment due to PIPN. While all of the patients in both groups completed their course of CTX, details on the exact number and duration of the delays in treatment in the PIPN group were difficult to find in the survivors' medical records. Given that PIPN is considered to be a dose-dependent neuropathy,^{52,76} prospective studies are warranted that track this information on an ongoing basis.

Sensation

As expected, survivors with PIPN had significant decrements in light touch, pain, cold, and vibratory sensations in both the upper and lower extremities (for details see Supplemental Tables 1 through 4). While most clinicians use a 5.07 monofilament to evaluate for diabetic neuropathy, our findings regarding differences in light touch sensation suggest that a finer monofilament should be used to assess for changes in sensation in survivors who received paclitaxel. In addition, given that significant decrements were found in all four sensations, survivors need education on how to protect their upper and lower extremities from traumatic injuries.

Upper Extremity Function and Balance

Both measures of upper extremity function were significantly worse in the survivors with PIPN. In the one study that compared CTX naïve patients to those who received CTX, the mean grip strengths were 33.5 kg versus 30.1 kg, respectively.³⁰ For both groups of survivors in our study, mean grip strength was lower than for the CTX naïve patients. These findings may be attributable to age differences and/or to the fact that the survivors without PIPN did receive CTX. In terms of the Purdue Pegboard test,⁶⁰ healthy individuals between 40 and 80 years of age, using their dominant hand, typically insert 13 to 16 pins in 30

seconds.¹ While the number of pins inserted by our survivors with PIPN was lower, both groups of survivors had scores that were within the range of the healthy controls. Additional research is warranted to determine how decrements in upper extremity function correlate with survivors' ability to perform routine activities of daily living (e.g., writing, typing, using electronic devices).

Consistent with previous reports,^{28,40,79} over 60% of the survivors with PIPN reported problems with balance and indicated that the frequency, severity, and distress associated with balance problems were in the moderate range. Compared to healthy controls whose average TUG scores were 5.85,⁸³ both groups of survivors had worse scores. However, neither group of survivors' scores were >13.5 which is the TUG score associated with an increased risk of falls.⁴ In terms of the FAB scores, our findings for survivors with PIPN were similar to those reported in a previous study of patients with breast cancer who received taxanes (i.e., 33.9). In addition, the scores for our survivors without PIPN were slightly higher than those for healthy controls (i.e., 36.5).⁸³ Neither group of survivors had FAB scores that were below the clinically meaningful cutoff score of ≤25. Future studies need to determine if balance problems resolve, persist, or worsen in survivors with PIPN, as well as the relationship between balance problems and falls.

Symptom Burden

In our previous study that evaluated for differences in symptom burden between survivors who experienced CIPN, hearing loss, and tinnitus compared to survivors without any neurotoxicities,⁴⁸ with the exception of evening fatigue, all of the symptoms listed in Table 4 were significantly higher in the survivors with CIPN. In the current study, survivors with PIPN reported significantly higher and clinically meaningful increases in morning fatigue and sleep disturbance, as well as decrements in morning energy. From a clinical perspective, one can hypothesize that higher levels of sleep disturbance would be associated with higher levels of morning fatigue and decrements in morning energy. In fact, these three symptoms may constitute a symptom cluster that warrants ongoing assessment and management.

Stress and Quality of Life

While it is acknowledged that the diagnosis of cancer and its treatment is a stressful experience for most patients^{3,8,31,64} and emerging evidence documents positive associations between long-term stress and chronic pain,^{25–27,45} our previous study was the first to demonstrate associations between cancer survivors' perceptions of disease-specific stress (i.e., IES-R) and the occurrence of CIPN, hearing loss, and tinnitus.⁵⁰ The current study extends this line of inquiry and is the first to demonstrate differences in perceived stress in survivors with and without PIPN. It is interesting to note that between group differences were found only for the disease-specific measure of stress. For our survivors with and without PIPN, the subscale and total IES-R scores were similar to those reported by the total sample.⁵⁰ In the current study, survivors with PIPN reported higher avoidance, hyperarousal, and total IES-R scores. The avoidance subscale includes items related to denial of the meaning and consequences of the stress, blunted sensations, and awareness of emotional numbness.³⁵ In contrast, the hyperarousal subscale was added to the original version of the IES-R after the American Psychiatric Association published their diagnostic criteria for

post-traumatic stress disorder (PTSD).⁸⁵ The items included on this subscale evaluate irritability, anger, difficulty falling asleep, jumpiness, difficulty concentrating, and heightened watchfulness. Of note, for our survivors with PIPN, higher scores on the IES-R were associated with higher levels of trait anxiety (i.e., $r=0.57$ for hyperarousal, $r=0.55$ for total IES-R score; both $p\leq.001$). While the total IES-R score did not reach the clinically meaningful cutoff score of ≥ 33 , our findings suggest that survivors with PIPN may benefit from interventions to decrease anxiety and stress.

QOL is an extremely important outcome for cancer survivors.^{36,47} While one would hypothesize that survivors with PIPN would report lower scores for all of the QOL domains, for both the generic and disease-specific measures of QOL, the significant between group differences were found primarily in the physical function subscales. In fact, all of the significant differences in these physical function scores represent not only statistically significant but clinically meaningful decrements in various aspects of physical functioning (i.e., Cohen's $d = 0.4$ to 1.8). In addition, for the cancer survivors with PIPN, their mean PCS score on the SF-12 (i.e., 43.14) is substantially below the normative score of 50 for the general United States population.⁸⁴

A number of limitations warrant consideration. While paclitaxel is used for the treatment of breast, lung, and ovarian cancers, the majority of the survivors in this study had breast cancer. Therefore, the generalizability of these findings across cancer diagnoses warrants confirmation. Given the crosssectional study design, the demographic and clinical characteristics associated with PIPN warrant confirmation in a prospective longitudinal study. While the subjective measures of stress have excellent psychometric properties, future studies should examine associations between the occurrence and severity of PIPN and objective measures of stress (e.g., hair cortisol). Given that physical activity may be impacted by PIPN given the pain, future research should assess these relationships (e.g., pain and BMI). In addition, given that the total dose of paclitaxel did not differ between the two groups, future studies should evaluate for associations between genetic, gene expression, and epigenetic markers and the occurrence and severity of PIPN.

Despite these limitations, the findings from this large descriptive study are the first to document the impact of PIPN on survivors' symptom burden, functional status, and QOL. Given the relatively high levels of stress and significant decrements in physical function in these survivors, future studies are needed that evaluate the impact of stress reduction strategies and rehabilitation programs on the severity of PIPN and other patient-reported outcomes.

Supplementary Material

Refer to Web version on PubMed Central for supplementary material.

Acknowledgements:

This study was funded by the National Cancer Institute (NCI, CA151692) and the American Cancer Society (ACS, IRG-97-150-13). Dr. Miaskowski is supported by a grant from the ACS and NCI (CA168960). This project was supported by the National Center for Advancing Translational Sciences, National Institutes of Health, through UCSF-CTSI Grant Number UL1 TR000004. Its contents are solely the responsibility of the authors and do not

necessarily represent the official views of the NIH. Recruitment was facilitated by Dr. Susan Love Research Foundation's Army of Women® Program.

REFERENCES

1. Agnew J, Bolla-Wilson K, Kawas CH, Bleecker ML. Purdue pegboard age and sex norms for people 40 years and older. *Dev Neuropsychol*. 4:29–35, 1988
2. Anderson SG, Narayanan RP, Malipatil NS, Roberts H, Dunn G, Heald AH. Socioeconomic deprivation independently predicts painful diabetic neuropathy in type 2 diabetes. *Exp Clin Endocrinol Diabetes*. 123:423–427, 2015 [PubMed: 26069072]
3. Arab C, Dias DP, Barbosa RT, Carvalho TD, Valenti VE, Crocetta TB, Ferreira M, Abreu LC, Ferreira C. Heart rate variability measure in breast cancer patients and survivors: A systematic review. *Psychoneuroendocrinology*. 68:57–68, 2016 [PubMed: 26943345]
4. Beauchet O, Fantino B, Allali G, Muir SW, Montero-Odasso M, Annweiler C. Timed Up and Go test and risk of falls in older adults: a systematic review. *J Nutr Health Aging*. 15:933–938, 2011 [PubMed: 22159785]
5. Beijers AJ, Mols F, Tjan-Heijnen VC, Faber CG, van de Poll-Franse LV, Vreugdenhil G. Peripheral neuropathy in colorectal cancer survivors: the influence of oxaliplatin administration. Results from the population-based PROFILES registry. *Acta Oncol*. 54:463–469, 2015 [PubMed: 25417732]
6. Bell-Krotoski JA: Sensibility testing with Semmes-Weinstein monofilaments In: Rehabilitation of the Hand and Upper Extremity.(Hunter JM, Mackin EJ, Callahan ED, Eds.), Mosby, Inc., St. Louis, 2002.
7. Bohn MJ, Babor TF, Kranzler HR. The Alcohol Use Disorders Identification Test (AUDIT): validation of a screening instrument for use in medical settings. *J Stud Alcohol*. 56:423–432, 1995 [PubMed: 7674678]
8. Brandao T, Schulz MS, Matos PM. Psychological adjustment after breast cancer: a systematic review of longitudinal studies. *Psychooncology*. 26:917–926, 2017 [PubMed: 27440317]
9. Brunner F, Bachmann LM, Weber U, Kessels AG, Perez RS, Marinus J, Kissling R. Complex regional pain syndrome 1 --the Swiss cohort study. *BMC Musculoskelet Disord*. 9:92, 2008 [PubMed: 18573212]
10. Buddenberg LA, Davis C. Test-retest reliability of the Purdue Pegboard Test. *Am J Occup Ther*. 54:555–558, 2000 [PubMed: 11006818]
11. Callaghan B, Feldman E. The metabolic syndrome and neuropathy: therapeutic challenges and opportunities. *Ann Neurol*. 74:397–403, 2013 [PubMed: 23929529]
12. Cella D, Peterman A, Hudgens S, Webster K, Socinski MA. Measuring the side effects of taxane therapy in oncology: the functional assesment of cancer therapy-taxane (FACT-taxane). *Cancer*. 98:822–831, 2003 [PubMed: 12910528]
13. Cieza A, Geyh S, Chatterji S, Kostanjsek N, Ustun BT, Stucki G. Identification of candidate categories of the International Classification of Functioning Disability and Health (ICF) for a Generic ICF Core Set based on regression modelling. *BMC Med Res Methodol*. 6:36, 2006 [PubMed: 16872536]
14. Cimprich B, Visovatti M, Ronis DL. The Attentional Function Index--a self-report cognitive measure. *Psychooncology*. 20:194–202, 2011 [PubMed: 20213858]
15. Civilotti C, Castelli L, Binaschi L, Cussino M, Tesio V, Di Fini G, Veglia F, Torta R. Dissociative symptomatology in cancer patients. *Front Psychol*. 6:118, 2015 [PubMed: 25759675]
16. Cohen S, Kamarck T, Mermelstein R. A global measure of perceived stress. *J Health Soc Behav*. 24:385–396, 1983 [PubMed: 6668417]
17. Cox-Martin E, Trahan LH, Cox MG, Dougherty PM, Lai EA, Novy DM. Disease burden and pain in obese cancer patients with chemotherapy-induced peripheral neuropathy. *Support Care Cancer*. 25:1873–1879, 2017 [PubMed: 28124735]
18. Creamer M, Bell R, Failla S. Psychometric properties of the Impact of Event Scale - Revised. *Behav Res Ther*. 41:1489–1496, 2003 [PubMed: 14705607]
19. Desrosiers J, Hebert R, Bravo G, Dutil E. The Purdue Pegboard Test: normative data for people aged 60 and over. *Disabil Rehabil*. 17:217–224, 1995 [PubMed: 7626768]

20. Duke J, McEvoy M, Sibbritt D, Guest M, Smith W, Attia J. Vibrotactile threshold measurement for detecting peripheral neuropathy: defining variability and a normal range for clinical and research use. *Diabetologia*. 50:2305–2312, 2007 [PubMed: 17846743]
21. Eckhoff L, Knoop AS, Jensen MB, Ejlersen B, Ewertz M. Risk of docetaxel-induced peripheral neuropathy among 1,725 Danish patients with early stage breast cancer. *Breast Cancer Res Treat*. 142:109–118, 2013 [PubMed: 24132874]
22. Ezendam NP, Pijlman B, Bhugwandass C, Puijt JF, Mols F, Vos MC, Pijnenborg JM, van de Poll-Franse LV. Chemotherapy-induced peripheral neuropathy and its impact on health-related quality of life among ovarian cancer survivors: results from the population-based PROFILES registry. *Gynecol Oncol*. 135:510–517, 2014 [PubMed: 25281491]
23. Ferrell BR. The impact of pain on quality of life. A decade of research. *Nurs Clin North Am*. 30:609–624, 1995 [PubMed: 7501531]
24. Ferrell BR, Dow KH, Grant M. Measurement of the quality of life in cancer survivors. *Qual Life Res*. 4:523–531, 1995 [PubMed: 8556012]
25. Generaal E, Milaneschi Y, Jansen R, Elzinga BM, Dekker J, Penninx BW. The brain-derived neurotrophic factor pathway, life stress, and chronic multi-site musculoskeletal pain. *Mol Pain*. 12, 2016
26. Generaal E, Vogelzangs N, Macfarlane GJ, Geenen R, Smit JH, de Geus EJ, Penninx BW, Dekker J. Biological stress systems, adverse life events and the onset of chronic multisite musculoskeletal pain: a 6-year cohort study. *Ann Rheum Dis*. 75:847–854, 2016 [PubMed: 25902791]
27. Generaal E, Vogelzangs N, Macfarlane GJ, Geenen R, Smit JH, Penninx BW, Dekker J. Reduced hypothalamic-pituitary-adrenal axis activity in chronic multi-site musculoskeletal pain: partly masked by depressive and anxiety disorders. *BMC Musculoskelet Disord*. 15:227, 2014 [PubMed: 25007969]
28. Gewandter JS, Fan L, Magnuson A, Mustian K, Peppone L, Heckler C, Hopkins J, Tejani M, Morrow GR, Mohile SG. Falls and functional impairments in cancer survivors with chemotherapy-induced peripheral neuropathy (CIPN): a University of Rochester CCOP study. *Support Care Cancer*. 21:2059–2066, 2013 [PubMed: 23446880]
29. Greenlee H, Hershman DL, Shi Z, Kwan ML, Ergas IJ, Roh JM, Kushi LH. BMI, Lifestyle Factors and Taxane-Induced Neuropathy in Breast Cancer Patients: The Pathways Study. *J Natl Cancer Inst*. 109:1–8, 2017
30. Griffith KA, Couture DJ, Zhu S, Pandya N, Johantgen ME, Cavaletti G, Davenport JM, Tanguay LJ, Choflet A, Milliron T, Glass E, Gambill N, Renn CL, Dorsey SG. Evaluation of chemotherapy-induced peripheral neuropathy using current perception threshold and clinical evaluations. *Support Care Cancer*. 22:1161–1169, 2014 [PubMed: 24362842]
31. Haugland T, Wahl AK, Hofoss D, DeVon HA. Association between general self-efficacy, social support, cancer-related stress and physical health-related quality of life: a path model study in patients with neuroendocrine tumors. *Health Qual Life Outcomes*. 14:11, 2016 [PubMed: 26787226]
32. Havelin J, Imbert I, Cormier J, Allen J, Porreca F, King T. Central Sensitization and Neuropathic Features of Ongoing Pain in a Rat Model of Advanced Osteoarthritis. *J Pain*. 17:374–382, 2016 [PubMed: 26694132]
33. Hernandez D, Rose DJ. Predicting which older adults will or will not fall using the Fullerton Advanced Balance scale. *Arch Phys Med Rehabil*. 89:2309–2315, 2008 [PubMed: 18976981]
34. Hershman DL, Weimer LH, Wang A, Kranwinkel G, Brafman L, Fuentes D, Awad D, Crew KD. Association between patient reported outcomes and quantitative sensory tests for measuring long-term neurotoxicity in breast cancer survivors treated with adjuvant paclitaxel chemotherapy. *Breast Cancer Res Treat*. 125:767–774, 2011 [PubMed: 21128110]
35. Horowitz M, Wilner N, Alvarez W. Impact of Event Scale: a measure of subjective stress. *Psychosom Med*. 41:209–218, 1979 [PubMed: 472086]
36. Jacobs LA, Shulman LN. Follow-up care of cancer survivors: challenges and solutions. *Lancet Oncol*. 18:e19–e29, 2017 [PubMed: 28049574]
37. Jones SE, Erban J, Overmoyer B, Budd GT, Hutchins L, Lower E, Laufman L, Sundaram S, Urban WJ, Pritchard KI, Mennel R, Richards D, Olsen S, Meyers ML, Ravdin PM. Randomized phase III

- study of docetaxel compared with paclitaxel in metastatic breast cancer. *J Clin Oncol*. 23:5542–5551, 2005 [PubMed: 16110015]
38. Karnofsky D: Performance scale, Plenum Press, New York, 1977.
 39. Karnofsky D, Abelmann WH, Craver LV, Burchenal JH. The use of nitrogen mustards in the palliative treatment of carcinoma. *Cancer*. 1:634–656, 1948
 40. Kolb NA, Smith AG, Singleton JR, Beck SL, Stoddard GJ, Brown S, Mooney K. The association of chemotherapy-induced peripheral neuropathy symptoms and the risk of falling. *JAMA Neurol*. 73:860–866, 2016 [PubMed: 27183099]
 41. Kudlowitz D, Muggia F. Defining risks of taxane neuropathy: insights from randomized clinical trials. *Clin Cancer Res*. 19:4570–4577, 2013 [PubMed: 23817688]
 42. Kudlowitz D, Muggia F. Clinical features of taxane neuropathy. *Anti-cancer drugs*. 25:495–501, 2014 [PubMed: 24300917]
 43. Lee KA. Self-reported sleep disturbances in employed women. *Sleep*. 15:493–498, 1992 [PubMed: 1475563]
 44. Lee KA, Hicks G, Nino-Murcia G. Validity and reliability of a scale to assess fatigue. *Psychiatry Res*. 36:291–298, 1991 [PubMed: 2062970]
 45. Leistad RB, Nilsen KB, Stovner LJ, Westgaard RH, Ro M, Sand T. Similarities in stress physiology among patients with chronic pain and headache disorders: evidence for a common pathophysiological mechanism? *J Headache Pain*. 9:165–175, 2008 [PubMed: 18373156]
 46. Mathias S, Nayak US, Isaacs B. Balance in elderly patients: the “get-up and go” test. *Arch Phys Med Rehabil*. 67:387–389, 1986 [PubMed: 3487300]
 47. Mayer DK, Nasso SF, Earp JA. Defining cancer survivors, their needs, and perspectives on survivorship health care in the USA. *Lancet Oncol*. 18:e11–e18, 2017 [PubMed: 28049573]
 48. Miaskowski C, Mastick J, Paul SM, Abrams G, Cheung S, Sabes JH, Kober KM, Schumacher M, Conley YP, Topp K, Smoot B, Mausisa G, Mazor M, Wallhagen M, Levine JD. Impact of chemotherapy-induced neurotoxicities on adult cancer survivors’ symptom burden and quality of life. *J Cancer Surviv*. 12:234–245, 2018 [PubMed: 29159795]
 49. Miaskowski C, Mastick J, Paul SM, Topp K, Smoot B, Abrams G, Chen LM, Kober KM, Conley YP, Chesney M, Bolla K, Mausisa G, Mazor M, Wong M, Schumacher M, Levine JD. Chemotherapy-induced neuropathy in cancer survivors. *J Pain Symptom Manage*. 54:204–218 e202, 2017 [PubMed: 28063866]
 50. Miaskowski C, Paul SM, Mastick J, Abrams G, Topp K, Smoot B, Kober KM, Chesney M, Mazor M, Mausisa G, Schumacher M, Conley YP, Sabes JH, Cheung S, Wallhagen M, Levine JD. Associations between perceived stress and chemotherapy-induced peripheral neuropathy and ototoxicity in adult cancer survivors. *J Pain Symptom Manage*. 2018
 51. Miaskowski C, Paul SM, Mastick J, Schumacher M, Conley YP, Smoot B, Abrams G, Kober KM, Cheung S, Henderson-Sabes J, Chesney M, Mazor M, Wallhagen M, Levine JD. Hearing loss and tinnitus in survivors with chemotherapy-induced neuropathy. *Eur J Oncol Nurs*. 32:1–11, 2018 [PubMed: 29353626]
 52. Miltenburg NC, Boogerd W. Chemotherapy-induced neuropathy: A comprehensive survey. *Cancer Treat Rev*. 40:872–882, 2014 [PubMed: 24830939]
 53. Mols F, Beijers T, Vreugdenhil G, van de Poll-Franse L. Chemotherapy-induced peripheral neuropathy and its association with quality of life: a systematic review. *Support Care Cancer*. 22:2261–2269, 2014 [PubMed: 24789421]
 54. Olsen RB, Bruehl S, Nielsen CS, Rosseland LA, Eggen AE, Stubhaug A. Hypertension prevalence and diminished blood pressure-related hypoalgesia in individuals reporting chronic pain in a general population: the Tromso study. *Pain*. 154:257–262, 2013 [PubMed: 23245863]
 55. Osmani K, Vignes S, Aissi M, Wade F, Milani P, Levy BI, Kubis N. Taxane-induced peripheral neuropathy has good long-term prognosis: a 1- to 13-year evaluation. *J Neurol*. 259:1936–1943, 2012 [PubMed: 22349867]
 56. Padilla GV, Ferrell B, Grant MM, Rhiner M. Defining the content domain of quality of life for cancer patients with pain. *Cancer Nurs*. 13:108–115, 1990 [PubMed: 2331691]
 57. Padilla GV, Presant C, Grant MM, Metter G, Lipsett J, Heide F. Quality of life index for patients with cancer. *Res Nurs Health*. 6:117–126, 1983 [PubMed: 6556698]

58. Papanas N, Ziegler D. New diagnostic tests for diabetic distal symmetric polyneuropathy. *J Diabetes Complications*. 25:44–51, 2011 [PubMed: 19896871]
59. Park SB, Kwok JB, Loy CT, Friedlander ML, Lin CS, Krishnan AV, Lewis CR, Kiernan MC. Paclitaxel-induced neuropathy: potential association of MAPT and GSK3B genotypes. *BMC Cancer*. 14:993, 2014 [PubMed: 25535399]
60. Purdue, Pegboard, Test, Lafayette Instrument, Lafayette, IN, 2002.
61. Radloff LS. The CES-D Scale: A self-report depression scale for research in the general population. *Applied Psychological Measurement*. 1:385–401, 1977
62. Rahman W, Dickenson AH. Emerging targets and therapeutic approaches for the treatment of osteoarthritis pain. *Curr Opin Support Palliat Care*. 9:124–130, 2015 [PubMed: 25730180]
63. Reddon JR, Gill DM, Gauk SE, Maerz MD. Purdue Pegboard: test-retest estimates. *Percept Mot Skills*. 66:503–506, 1988 [PubMed: 3399326]
64. Reich RR, Lengacher CA, Alinat CB, Kip KE, Paterson C, Ramesar S, Han HS, Ismail-Khan R, Johnson-Mallard V, Moscoso M, Budhrani-Shani P, Shivers S, Cox CE, Goodman M, Park J. Mindfulness-based stress reduction in post-treatment breast cancer patients: Immediate and sustained effects across multiple symptom clusters. *J Pain Symptom Manage*. 53:85–95, 2017 [PubMed: 27720794]
65. Rose DJ, Lucchese N, Wiersma LD. Development of a multidimensional balance scale for use with functionally independent older adults. *Arch Phys Med Rehabil*. 87:1478–1485, 2006 [PubMed: 17084123]
66. Sadosky A, Mardekian J, Parsons B, Hopps M, Bienen EJ, Markman J. Healthcare utilization and costs in diabetes relative to the clinical spectrum of painful diabetic peripheral neuropathy. *J Diabetes Complications*. 29:212–217, 2015 [PubMed: 25498300]
67. Sarosy GA, Hussain MM, Seiden MV, Fuller AF, Nikrui N, Goodman A, Minasian L, Reed E, Steinberg SM, Kohn EC. Ten-year follow-up of a phase 2 study of dose-intense paclitaxel with cisplatin and cyclophosphamide as initial therapy for poor-prognosis, advanced-stage epithelial ovarian cancer. *Cancer*. 116:1476–1484, 2010 [PubMed: 20091841]
68. Schmidt RT, Toews JV. Grip strength as measured by the Jamar dynamometer. *Arch Phys Med Rehabil*. 51:321–327, 1970 [PubMed: 5423802]
69. Schnadig ID, Fromme EK, Loprinzi CL, Sloan JA, Mori M, Li H, Beer TM. Patient-physician disagreement regarding performance status is associated with worse survivorship in patients with advanced cancer. *Cancer*. 113:2205–2214, 2008 [PubMed: 18780322]
70. Schneider BP, Li L, Radovich M, Shen F, Miller KD, Flockhart DA, Jiang G, Vance G, Gardner L, Vatta M, Bai S, Lai D, Koller D, Zhao F, O'Neill A, Smith ML, Railey E, White C, Partridge A, Sparano J, Davidson NE, Foroud T, Sledge GW, Jr. Genome-wide association studies for taxane-induced peripheral neuropathy in ECOG-5103 and ECOG-1199. *Clin Cancer Res*. 21:5082–5091, 2015 [PubMed: 26138065]
71. Schneider BP, Zhao F, Wang M, Stearns V, Martino S, Jones V, Perez EA, Saphner T, Wolff AC, Sledge GW, Jr., Wood WC, Davidson NE, Sparano JA. Neuropathy is not associated with clinical outcomes in patients receiving adjuvant taxane-containing therapy for operable breast cancer. *J Clin Oncol*. 30:3051–3057, 2012 [PubMed: 22851566]
72. Socinski MA, Bondarenko I, Karaseva NA, Makhson AM, Vynnychenko I, Okamoto I, Hon JK, Hirsh V, Bhar P, Zhang H, Iglesias JL, Renschler MF. Weekly nab-paclitaxel in combination with carboplatin versus solvent-based paclitaxel plus carboplatin as first-line therapy in patients with advanced non-small-cell lung cancer: final results of a phase III trial. *J Clin Oncol*. 30:2055–2062, 2012 [PubMed: 22547591]
73. Song SJ, Min J, Suh SY, Jung SH, Hahn HJ, Im SA, Lee JY. Incidence of taxane-induced peripheral neuropathy receiving treatment and prescription patterns in patients with breast cancer. *Support Care Cancer*. 25:2241–2248, 2017 [PubMed: 28204996]
74. Spielberger CG, Gorsuch RL, Suchene R, Vagg PR, Jacobs GA: Manual for the State-Anxiety (Form Y): Self Evaluation Questionnaire, Consulting Psychologists Press, Palo Alto, CA, 1983.
75. SPSS: IBM SPSS for Windows (Version 23), SPSS, Inc., Armonk, NY, 2015.
76. Starobova H, Vetter I. Pathophysiology of Chemotherapy-Induced Peripheral Neuropathy. *Front Mol Neurosci*. 10:174, 2017 [PubMed: 28620280]

77. Sundin EC, Horowitz MJ. Impact of Event Scale: psychometric properties. *Br J Psychiatry*. 180:205–209, 2002 [PubMed: 11872511]
78. Toftthagen C, Donovan KA, Morgan MA, Shibata D, Yeh Y. Oxaliplatin-induced peripheral neuropathy's effects on health-related quality of life of colorectal cancer survivors. *Support Care Cancer*. 21:3307–3313, 2013 [PubMed: 23903798]
79. Toftthagen C, Visovsky C, Berry DL. Strength and balance training for adults with peripheral neuropathy and high risk of fall: current evidence and implications for future research. *Oncol Nurs Forum*. 39:E416–424, 2012 [PubMed: 22940521]
80. Toftthagen CS, McMillan SC, Kip KE. Development and psychometric evaluation of the chemotherapy-induced peripheral neuropathy assessment tool. *Cancer Nurs*. 34:E10–20, 2011
81. Victor TW, Jensen MP, Gammaitoni AR, Gould EM, White RE, Galer BS. The dimensions of pain quality: factor analysis of the Pain Quality Assessment Scale. *Clin J Pain*. 24:550–555, 2008 [PubMed: 18574365]
82. Viswanathan V, Snehalatha C, Seena R, Ramachandran A. Early recognition of diabetic neuropathy: evaluation of a simple outpatient procedure using thermal perception. *Postgrad Med J*. 78:541–542, 2002 [PubMed: 12357015]
83. Wampler MA, Topp KS, Miaskowski C, Byl NN, Rugo HS, Hamel K. Quantitative and clinical description of postural instability in women with breast cancer treated with taxane chemotherapy. *Arch Phys Med Rehabil*. 88:1002–1008, 2007 [PubMed: 17678662]
84. Ware J, Jr., Kosinski M, Keller SD. A 12-Item Short-Form Health Survey: construction of scales and preliminary tests of reliability and validity. *Med Care*. 34:220–233, 1996 [PubMed: 8628042]
85. Weiss DS, Marmar CR: *The Impact of Event Scale - Revised*, Guilford Press, New York, 1997.

Table 1 –

Differences in Demographic Characteristics Between Cancer Survivors Who Received Paclitaxel and Did and Did Not Develop Peripheral Neuropathy

Characteristic	No PIPN 27.5% (n=58)	PIP 72.5% (n=153)	Test, p-value
	Mean (SD)	Mean (SD)	
Age (years)	53.36 (9.55)	59.59 (9.82)	t= -4.14, <.001
Education (years)	16.55 (1.95)	16.58 (2.69)	t= -0.09, .927
	% (n)	% (n)	
Female	100.0 (58)	99.3 (152)	FE, 1.000
Married/partnered (% yes)	77.6 (45)	66.0 (99)	FE, .132
Lives alone (% yes)	22.4 (13)	25.8 (39)	FE, .722
Employed (% yes)	62.1 (36)	47.7 (73)	FE, .066
Ethnicity			X ² =0.72, .870
White	79.3 (46)	75.2 (115)	
Asian/Pacific Islander	5.2 (3)	7.2 (11)	
Black	3.4 (2)	2.6 (4)	
Hispanic/Mixed/Other	12.1 (7)	15.0 (23)	
Annual household income			U, .109
<\$30,000	9.4 (5)	19.3 (28)	
\$30,000 - \$69,999	11.3 (6)	19.3 (28)	
\$70,000 - \$99,999	28.3 (15)	16.6 (24)	
>\$100,000	50.9 (27)	44.8 (65)	
Child care responsibilities (% yes)	23.2 (13)	16.6 (25)	FE, .313
Adult care responsibilities (% yes)	7.5 (4)	4.3 (6)	FE, .467

Abbreviations: FE = Fisher's Exact test, PIPN = paclitaxel-induced peripheral neuropathy, SD = standard deviation, U = Mann-Whitney U test

Table 2 –

Differences in Clinical Characteristics Between Cancer Survivors Who Received Paclitaxel and Did and Did Not Develop Peripheral Neuropathy

Characteristic	No PIPN 27.5% (n=58)	PIPN 72.5% (n=153)	Test, p-value
	Mean (SD)	Mean (SD)	
Karnofsky Performance Status score	92.28 (8.02)	82.73 (10.42)	t= 7.01, <.001
Body mass index (kg/m ²)	24.52 (4.55)	26.78 (5.92)	t= -2.62, .009
Number of comorbidities	1.35 (1.09)	1.93 (1.50)	t= -3.08, .002
SCO. score	2.63 (2.25)	3.99 (3.53)	t= -3.28, .001
AUDIT score	2.97 (1.96)	1.91 (1.95)	t= 3.50, .001
Years since cancer diagnosis	5.00 (4.77)	4.73 (4.63)	t= 0.38, .706
Number of prior cancer treatments	3.93 (0.73)	3.59 (0.83)	t= 2.85, .005
Number of current cancer treatments	0.74 (0.66)	0.67 (0.67)	t= 0.66, .508
Number of metastatic sites (out of 7)	0.77 (0.68)	0.72 (0.76)	MW, .388
Number of metastatic sites without lymph node involvement	0.09 (0.43)	0.12 (0.51)	MW, .727
	% (n)	% (n)	
Smoker (ever)	31.6 (18)	34.0 (51)	FE, .869
Exercise on a regular basis (% yes)	89.3 (50)	84.9 (129)	FE, .503
Born prematurely (% yes)	1.7 (1)	7.8 (11)	FE, .186
Surgery on arms (% yes)	21.1 (12)	28.5 (43)	FE, .297
Surgery on hands (% yes)	1.7 (1)	9.3 (14)	FE, .073
Surgery on legs (% yes)	17.9 (10)	22.7 (34)	FE, .567
Surgery on feet (% yes)	16.1 (9)	20.7 (31)	FE, .555
Injury to arms (% yes)	29.3 (17)	29.1 (44)	FE, 1.000
Injury to hands (% yes)	14.3 (8)	38.5 (57)	FE, .001
Injury to legs (% yes)	17.9 (10)	19.3 (29)	FE, 1.000
Injury to feet (% yes)	29.1 (16)	26.7 (39)	FE, .726
Comorbid conditions (% yes)			
Cancer	50.0 (29)	43.1 (66)	FE, .439
Osteoarthritis	13.8 (8)	31.4 (48)	FE, .009
Back pain	27.6 (16)	35.3 (54)	FE, .328
Depression	24.1 (14)	27.5 (42)	FE, .728
High blood pressure	12.1 (7)	26.8 (41)	FE, .027
Heart disease	0.0 (0)	5.9 (9)	FE, .066
Diabetes	1.7 (1)	5.2 (8)	FE, .450
Lung disease	1.7 (1)	3.9 (6)	FE, .676
Anemia or blood disease	1.7 (1)	5.9 (9)	FE, .291
Ulcer or stomach disease	0.0 (0)	4.6 (7)	FE, .194
Kidney disease	0.0 (0)	0.0 (0)	FE, 1.000

Characteristic	No PIPN 27.5% (n=58)	PIP 72.5% (n=153)	Test, p-value
	Mean (SD)	Mean (SD)	
Liver disease	0.0 (0)	1.3 (2)	FE, 1.000
Rheumatoid arthritis	0.0 (0)	1.3 (2)	FE, 1.000
Pain not related to cancer	53.4 (31)	58.8 (90)	FE, .534
Type of cancer			X ² =5.11, .078
Breast	93.1 (54)	98.0 (150)	
Ovarian	0.0 (0)	0.7 (1)	
Other	6.9 (4)	1.3 (2)	
Any metastatic disease (% yes)	68.4 (39)	62.0 (93)	FE, .422
Dose of paclitaxel (mg/m ²)	799.98 (208.50)	851.25 (718.90)	t= -0.51, .610
Patients who had a dose reduction or delay due to neuropathy (% (n))	0.0 (0)	13.6 (20)	FE, .001

Abbreviations: AUDIT = Alcohol Use Disorders Identification Test, FE = Fisher's Exact test, kg = kilograms, m² = meters squared, mg = milligrams, PIPN = paclitaxel-induced peripheral neuropathy, SCQ = Self-Administered Comorbidity Questionnaire, SD = standard deviation, U = Mann Whitney U test

Table 3 –

Pain Characteristics of the Cancer Survivors Who Received Paclitaxel and Developed Peripheral Neuropathy

Characteristic	Lower Extremity (n=146)	Upper Extremity (n=114)
	Mean (SD)	Mean (SD)
Pain Characteristics		
Duration of PIPN (years)	3.87 (4.00)	3.82 (4.05)
Pain now	3.41 (2.18)	2.98 (2.22)
Average pain	3.84 (2.11)	3.17 (2.21)
Worst pain	5.92 (2.51)	4.76 (2.77)
Days per week in pain	3.66 (3.02)	3.78 (2.94)
Hours per day in pain	13.06 (9.11)	12.27 (9.24)
Pain Interference Scale		
Balance	3.46 (2.94)	
Routine activities ⁺		2.67 (2.79)
Walking ability	3.42 (3.01)	0.42 (1.56)
Enjoyment of life	2.86 (2.86)	2.24 (2.78)
Normal work	2.65 (2.72)	2.79 (2.68)
Sleep	2.86 (2.96)	1.78 (2.57)
General activity	2.63 (2.59)	2.54 (2.60)
Mood	2.52 (2.55)	2.05 (2.26)
Relations with other people	1.65 (2.27)	0.90 (1.74)
Sexual activity	1.11 (2.37)	0.69 (1.96)
Mean interference score	2.59 (2.28)	1.82 (1.94)
Pain Quality Assessment Scale (PQAS) Scores		
Numb	5.32 (2.91)	4.07 (2.68)
Unpleasant	4.32 (2.43)	3.72 (2.48)
Tingling	4.01 (2.99)	3.05 (2.97)
Intense	3.34 (2.49)	2.73 (2.37)
Dull	3.02 (2.61)	2.34 (2.25)
Cramping	2.80 (3.05)	1.73 (2.63)
Electrical	2.35 (2.94)	1.93 (2.84)
Shooting	2.25 (2.72)	1.33 (2.32)
Sharp	2.19 (2.73)	1.31 (2.21)
Aching	2.28 (2.63)	1.66 (2.41)
Heavy	1.94 (2.63)	1.41 (2.40)
Cold	1.64 (2.46)	1.12 (2.10)
Radiating	2.16 (2.75)	1.48 (2.34)
Hot	1.94 (2.71)	1.08 (2.08)
Tender	1.96 (2.45)	1.60 (2.27)

Characteristic	Lower Extremity (n=146)	Upper Extremity (n=114)
	Mean (SD)	Mean (SD)
Sensitive skin	1.77 (2.22)	1.32 (2.14)
Throbbing	1.88 (2.55)	1.31 (2.21)
Itchy	1.22 (2.23)	0.60 (1.61)
Intense - surface pain	3.38 (2.71)	2.96 (2.42)
Intense - deep pain	3.18 (2.73)	2.39 (2.73)
PQAS subscale - paroxysmal	2.19 (2.21)	1.41 (1.90)
PQAS subscale - surface	2.79 (1.70)	2.02 (1.61)
PQAS subscale - deep	2.38 (1.92)	1.70 (1.88)

⁺Dressing, toileting, typing

Abbreviations: PIPN - paclitaxel-induced peripheral neuropathy, SD = standard deviation

Table 4 –

Differences in Sensation Measures, Balance Measures, Symptom Severity Scores, Stress Measures, and Quality of Life Outcomes Between Cancer Survivors Who Received Paclitaxel and Did and Did Not Develop Peripheral Neuropathy

Characteristic*	No PIPN 27.5% (n=58)	PIPN 72.5% (n=153)	Statistic; p-value
	Mean (SD)	Mean (SD)	
Sensation Measures ⁺			
Light touch - upper extremity sites (out of 7) ^a	0.00 (0.00)	0.16 (0.70)	t= −2.88, .005
Light touch - lower extremity sites (out of 9) ^b	0.22 (0.50)	1.84 (2.18)	t= −8.53, <.001
Cold - upper extremity sites out of 4 ^c	0.45 (0.78)	0.80 (0.98)	t= −2.47, .015
Cold - lower extremity sites out of 4 ^d	1.60 (1.36)	2.21 (1.18)	t= −3.19, .002
Pain - upper extremity sites (out of 7) ^e	0.47 (0.75)	1.10 (1.43)	t= −4.15, <.001
Pain - lower extremity sites (out of 9) ^f	1.53 (1.48)	3.29 (2.16)	t= −6.71, <.001
Vibration - upper extremity sites (volts) ^g	16.34 (7.56)	25.19 (11.53)	t= −6.48, <.001
Vibration - lower extremity sites (volts) ^h	6.24 (1.77)	8.77 (4.41)	t= −5.93, <.001
Balance Measures			
Trouble with balance (% yes (n)) ⁱ	10.9 (6)	61.2 (93)	FE, <.001
Severity of balance trouble (0 to 10) ^j	2.33 (1.63)	4.67 (2.74)	t= −2.06, .042
Frequency of balance trouble (0 to 10) ^k	2.17 (1.17)	4.62 (3.00)	t= −4.30, .002
Distress from balance trouble (0 to 10) ^l	3.00 (3.03)	5.10 (2.98)	t=1.67, .098
Timed get up and go test (>13.5 seconds = higher risk for falls)	6.20 (1.24)	7.85 (2.36)	t= −6.54, <.001
Fullerton Advanced Balance test (≤25 is associated with a higher risk of falls)	37.79 (3.08)	33.95 (5.88)	t=6.17, <.001
Upper Extremity Function			
Grip strength (kilograms)	27.41 (5.15)	23.68 (5.92)	t=4.23, p<.001
Number of pins in 30 seconds	15.50 (1.95)	14.25 (2.04)	t=4.02, p<.001
Symptom Severity Scores			
Trait anxiety (STAI-T score ≥31.8)	35.21 (10.59)	36.42 (9.66)	t= −0.79, .429
State anxiety (STAI-S score ≥32.2)	31.45 (10.03)	34.10 (12.07)	t= −1.48, .141
Depressive symptoms (CES-D score ≥16)	8.77 (7.99)	10.94 (9.51)	t= −1.54, .125
Morning fatigue (LFS score ≥3.2)	2.64 (1.99)	3.35 (2.27)	t= −2.09, .038
Evening fatigue (LFS score ≥5.6)	5.34 (1.84)	5.48 (1.89)	t= −0.49, .623
Morning energy (LFS score ≤6.2)	5.74 (2.23)	4.93 (2.10)	t=2.45, .015
Evening energy (LFS score ≤3.5)	3.89 (2.10)	3.42 (1.81)	t=1.61, .109
Sleep disturbance (GSDS score ≥43)	40.55 (20.55)	48.88 (20.20)	t= −2.66, .008
Attentional function (AFI score <5 is low function, 5.0 to 7.5 is moderate function, >7.5 is high function)	6.91 (1.62)	6.51 (1.67)	t= 1.54, .124

Characteristic *	No PIPN 27.5% (n=58)	PIP 72.5% (n=153)	Statistic; p-value
	Mean (SD)	Mean (SD)	
Stress Measures			
IES-R Avoidance mean subscale score	0.53 (0.48)	0.68 (0.64)	t= −3.09, .002
IES-R Intrusion mean subscale score	0.47 (0.46)	0.74 (0.74)	t= −1.73, .085
IES-R Hyperarousal mean subscale score	0.32 (0.55)	0.56 (0.68)	t= −2.59, .011
IES-R Total score (≥33)	9.96 (8.66)	14.62 (13.63)	t= −2.91, .004
Perceived Stress Scale score	17.36 (10.11)	18.68 (9.31)	t= −0.89, .373
MOS-SF12 Scores			
Physical functioning	83.19 (25.39)	61.11 (34.76)	t= 5.06, <.001
Role physical	79.53 (24.41)	59.31 (30.06)	t= 5.02, <.001
Bodily pain	86.40 (20.08)	66.28 (28.46)	t= 5.69, <.001
General health	76.55 (17.78)	68.58 (22.89)	t= 2.67, .009
Vitality	57.46 (24.53)	47.02 (24.82)	t= 2.73, .008
Social functioning	88.16 (20.10)	76.66 (28.24)	t= 3.27, .001
Role emotional	80.92 (23.99)	76.58 (25.35)	t= 1.12, .266
Mental health	74.12 (18.28)	69.13 (19.94)	t= 1.65, .101
Physical component summary score (≥50.0)	51.33 (8.86)	43.14 (11.30)	t= 5.46, <.001
Mental component summary score (≥50.0)	49.82 (10.93)	48.93 (10.37)	t= 0.54, .589
Multidimensional Quality of Life (QOL) Scale - Cancer			
Physical well-being	7.99 (1.37)	7.33 (1.60)	t= 2.76, .006
Psychological well-being	5.79 (1.50)	5.28 (1.70)	t= 2.09, .039
Social well-being	6.34 (2.07)	5.77 (2.19)	t= 1.72, .086
Spiritual well-being	4.98 (1.96)	5.32 (2.26)	t= −1.10, .274
Total QOL score	6.18 (1.32)	5.79 (1.42)	t= 1.81, .072

* When available, the clinically meaningful cut-point score is provided in parentheses next to the characteristic.

[†] Changes in sensation are reported for the dominant extremity

^a Upper extremity sites for light touch were: pad of thumb, thumb webspace, tip of index finger, tip of little finger, midway base of palm, one third up anterior arm, two thirds up anterior arm

^b Lower extremity sites for light touch were: pad of great toe, pad of 3rd toe, pad of 5th toe, base of heel, metacarpophalangeal (MP) joint of great toe, MP joint of 3rd toe, MP joint of 5th toe, midway along tibia, patella

^c Upper extremity sites for cold were: pad of index finger, pad of little finger, dorsal MP area of the hand, wrist

^d Lower extremity sites for cold were: top of great toe at 1st MP joint, pad of great toe, dorsum of foot midpoint, medial malleolus

^e Upper extremity sites for pain were: pad of thumb, thumb webspace, tip of index finger, tip of little finger, midway base of palm, one third up anterior arm, two thirds up anterior arm

^f Lower extremity sites for pain were: pad of great toe, pad of 3rd toe, pad of 5th toe, base of heel, metacarpophalangeal (MP) joint of great toe, MP joint of 3rd toe, MP joint of 5th toe, midway along tibia, patella

^g Upper extremity sites for vibration were: dorsal interphalangeal (IP) joint of thumb, dorsal IP joint of index finger, ulnar prominence, lateral epicondyle

^h Lower extremity sites for vibration were: dorsal IP joint of great toe, medial malleolus, patella

ⁱ Since your chemotherapy, have you had trouble with your balance?

^j At its worst, how severe is the trouble with your balance (0 = not at all severe to 10 = extremely severe)?

^k How often do you have trouble with your balance (0 = never to 10 = always)?

^l At its worst, how distressing is the trouble with your balance (0 = not at all distressing to 10 = extremely distressing)?

Abbreviations: AFI = Attentional Function Index, CES-D = Center for Epidemiological Studies-Depression Scale, LFS = Lee Fatigue Scale, GSDS = General Sleep Disturbance Scale, IES-R = Impact of Event Scale-Revised, MOS-SF-12 = Medical Outcomes Study-Short Form 12, PIPN = paclitaxel-induced peripheral neuropathy, QOL = quality of life, SD = standard deviation

Author Manuscript

Author Manuscript

Author Manuscript

Author Manuscript